COMPUTER BASED TEST - 2023

JUNIOR ANALYST IN THE DRUGS TESTING LABORATORY

CHEMISTRY (DEGREE STANDARD)

Fullerenes belong to nano materials.

oL GO Teia T BrGarm Qurmlsaer Ceibgama.

(A) Inorganic ﬂr Organic
EI &I

(C) Metal (D) Bio

: 2 Georss : : 2 W9l

(E) Answer not known

alenL Qzfwelerane

Nano size carriers of vitamin molecules have potential applications in
dermatology and cosmetics. Which vitamin is referred here?

el Lflar pesamnsaier BrCarm ey Csfwrsdr Gamed @mSGIeuD WLHMILD
SIRG Emgart durplsefld srsduwrar LwaLTOsmeTs Qsmar () draTer. THS
el Lifler @riCs @Ml uu@Sng ?

(A)

(©)

(E)

Vitamin Bis # Vitamin E
el L L0t Big aeul L 0er K
Vitamin Bg (D) Vitamin D
amaeul_ L oler Be aneul_ L 10er D
Answer not known

eflen QgMweleranen

Identify from the following list of nano materials, the branched, tree

shaped nano particles.
Seraipb préarm Qurmrseflar L weld @mhs), eamarss 7 euges BrEearm
SISEATHENGT < 6mL_UITETLD HITEUTEYLD.

(A)
(©)

(B)

Nano shells J M Dendrimers
Bréarm Oasdser QLT eDLOTGET
Nanotubes (D) Nanorods
BrGerT @ Lpriisar BrGarm swilger
Answer not known

eflenL Gz Nwelerana
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4.  Coating nanoparticle surfaces with antibodies has a profound
implication in the detection of disease.
BrCerm  gisar CHUrliLsamer 6mg LT sHmerds Carar®h Lseg)
Cpreowsd ser M LweruOHEng.

Q{ Cancer (B) Down syndrome

- ydpCpmu ) _ Lajer &l Grmb

(C) Tetanus (D) Gouty arthritis
QL L_areiv & aumgLd

(E) Answer not known
e Gsflwalerena
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Assertion [A] and Reason [R] Type.
a@miom [A] womn smrewd [R] cues.

Assertion [A] : Every green plant and photosynthetic bacteria
produces food by utilizing COq, water and sunlight.
gapm [A] : SMUGT-@L-ysmeR, b wopw Glu galleu LwuaL@ESS
. @eatleurm usms greurb wHmID @alECersms LTéeNumssdr
2 awtanel 2 HLSSH CFuidlernar.

Reason [R]: Thylakoids are fluid filled sacs containing light
sensitive pigment which collects photons and direct
them to photosynthetic reaction centres there by
initiating chain reaction of photosynthesis.

smyawd [R] : @gsaETlRs6T arumel @afl 2 aridper Hpadr Qamar
Speurse  BrLuGul L @usET @D, Guoaib e
aflGuITL_L mersemer Caalgg el &Caisma
flaaTELLREEEE @IS (b  @alsGsiEmaemi
& LS )&l eirm eor.

(A) [A] is false, [R] is correct

sapm [A] seuprang), [R] sfwrarg
(B) [A] is true, [R] is incorrect
sapm [A] 2 emenwo, [R] seupmang
(C) [A] and [R] are correct, but [R] is not the correct reason of [A]

sapm [A] wpmid sryard [R] sfwureng, <yerre [R] arerig [Al-er sflwme
MeTssd oje.

M [A] and [R] are correct, [R] is the correct reason of [A]
sapm [A] wpmid sryarn [R] sflwneng, [R] ererig) [A]-er sflwrer eferssin.

(E) Answer not known
eflen Qgflwelerene
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6. The blood-brain barrier is the most restrictive barrier in the body which
prevents all macro and most micro molecules. The nanoparticles proves

to cross the barrier is

@rss-epemer seLwWnarg 2L eld 2drer W&sa|b s (HUuubhSsluulL L WTELD.

Qg simaisg Quilw wHmb QuEbuTeTer AMu fposamnsmeTyDd hHESHDS.
BrCamgsaaear L ms sL&s Blepdssiul Hererg).

" (A) Dendrimer nanoparticles
CLerlenyor BréearT giserser

M Surfactant-coated nanoparticles

Cupuriy ysiul L préerm giseTser

(C) Nanopore particles
BrCaTTgiener FiseTaar

(D) Nanofibre particles

BTCaTTHemUILIT §IS6TEeT

(E) Answer not known
e GsMwalevena

7. Nanopores are nanovessels containing uniformly spaced holes for
restricted drug delivery. Which of the following cannot be delivered
through nanopore?
prCarmGuisdr eraugy s QauiwiulL wwmhg AECurssdbasrar oGy Frmer
@eGeuaflyyLar giamarsamers Csmanr préarmCladger <,@wWb. Yerelheuareunled
BrCarmGUTTEET eped GULPMEIS (LPlg LTSS T8l ?

(A) Oxygen ‘(Zf Immunoglobulin
<}, &erdleneir @, GermgCarmLjedler
(C) Insulin (D) Glucose
@) etraredl G &@n&CaTen

(E) Answer not known
allen Gz flweleorenan

Chemistry 6



Some drugs which posses a taste, increase the flow of
hydrochloric acid in the stomach and improves appetite.

soal darar fo wEpgsa adpie Hel grisws ofsnss
u&lepw Guobu@Bsgdarer.

(A) Sweet Bitter
Qafliiy . % S&LIL

(C) Spice - (D) Salty
SITITLD 2 QUi

(E) Answer not known
eflen Qzflweldene

The drug which produces hallucination is

wardld rusCsmHnsams 2 (Faurssssnlq Ll WHbS)

M Lysergic acid Diethyamide (LSD)
masredls sflon arwdoramn@ (LSD)

(B) Benzodiazepines
QuerCar evL_wrQeamLcTSeT

(C) Diphenylbutylpiperdines (DPBP)

L colfenared 19wyl e eu@uifligerser

(D) Phenothiazines

ﬁ@mnmgu_l TEGTEN

(E) Answer not known
eflen QgMwelerane
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10. Which antibiotic is found to deposit in bones and teeth of pregnant

women and infants when administered?
g 2 ulibarde Geqssiiu@bCurg sribatl Cuearsd wHmb @Lbamssart e
GTIbL|g&ET HmIb uhsefle Lgdpg ?

% Tetracycline (B) Ampicillin
QI_L_Urrm&a;@ﬂm <9}, L& Sl 6or

(©) Penicillin (D) Streptomycin
@ Lierél el v QrriGLmenLod e

(E) Answer not known
e Ggflwalerene

11. The antimicrobial agent which lowers surface tension and thus cause
bacterial cellmembrane leakage and death is used in soaps, creams,

oinments, cloths etc is known as
Cariy, Sfbsdr, sellbysdr, gaflger fHueuphe mearapuifsamer Csdseiay
&8lay epeld CSTET@EHLDd LiewTL]

(A) Haemorrhoids (B) Hexacarbuncles
am GlLomymi 6 QemgavramiriiLerslaren
Surfactants (D) Organic mercurials
FTLITE TGS 6T &M LTS rEmniser

(E) Answer not known
allenL GsMwaelléene

Chemistry 8



12.  Morphine, a potent naturally occuring, analgesic is obtained from poppy
plant’s
wridler om ssHaumips Qubmasurar e BHeuryenf), LT O&igufler erpbs
Lres&lallmbg QuDLILGS DS 2

(A) Flower buds (B) Anther
L, Clore (Hésdr D& FHSD
% Seed capsule | (D) Pollinated ovaries
efleang Gogyemm LETHSE CoFréams &(HLIenLIgeT

(E) Answer not known
e GzsMueldene

13. Chronic toxicity studies are carried out
BIETLIL L BEGFSSETEILD <116 &6T Guh@gmeareriiL@ & erme.

(A) 24 hours or less (B) 1 -6 months
24 wefl Gy VOwE GHoDauTs 1 - 6 IFESETD
M 6 — 12 months (D) 12 months
6 - 12 WIgREs6T 12 wrsnhisefle

(E) Answer not known
ellen AgsMwelerene
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14. The potency of a drug is
LD (HHSl6T < HmevTeng

®)
(©)
D)

(E)

Based on successful clinical trial
fAppBS HSSIe (Werammiiame CUTHSSS

Does not depend on its wide spread use
256 215 Geus LiTauame CLMHSSS e

Does not depend on the approval of the state government
bl rfler SmEsTISms QUTHSSSH D6

Can not be predicted
safléEs @ueng

Answer not known
adlenL Qzflwelerena

15. Analgesics are drugs which relieve pain by
auedl Bleumyentl HBESIGET uallevws G®DEGLD (LD

(A)

B)

(©)

(E)

Chemistry

Loss of consciousness
2 auriey @LoLIL

Intoxication
Curens

Reducing threshold value of pain
auedludler euybL| WSLImLS GHMDSS6D

Action on the central nervous system
&S BIOL T dSl6r g HL6llq&Eamns

Answer not known
adlen Gz flweldana
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16.

7.

18.

The plasma concentrations of hormones can be best determined by this

method

apmiGrarseafar Gemmevor Csflejsmar @bs wanm gpeld Spliuns Sioralss

Plg 1D,
(A) Chemical assay

Qremwar wHLISE

(Cj Biological ass'ay
2 ulflwed HrSE
(E) Answer not known

alenL QzMwelereane

(B) Filter binding assay
g &L lg WenenrLi & USE

Immunological assay
Crmug®Liy wHUSE

Which of the following is referred to as ‘queen of drugs’?
WereumeuareubmieT o8 ‘omhgIsaar o’ TETDELSSLILIHE DG ?

(A) Caffeine
EEINRAL -,
(C) Aspirin
<=,6 L9 6
(E) Answer not known

MenL Qzflwelerena

(D) Streptomycin
VL QrriGLrend e

The structural unit responsible for the physiological activity of a drug is

called

@@ whHH6r o L flwed QFudurghE QurnriLreT siLaibliL SADG

TGN HAHMLPESLILI(H S DG

(A) Medicophore
Qg CameGuim

(C) Chromophore
&CrTCwmesGuim

(E) Answer not known

eflenL QgMwelerene

11

(B) Auxochrome
<2,5Car&Crmb

) Pharmacophore
Ui GasmeGuimT
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19. Penicillins are ineffective, if taken orally due to enzymatic degradation.
Identify the enzyme degrading penicillin.
Qprd Hagelarmed euriieu wHBSTE Cuaflfladear CFassbCUrg GFubHmIL
Gurdlpgl. Cueanslalanear famss@b OB SjenLWTETD &TEs.

(A) Trypsin (B) y-reductase
 gfdedler . Y- sGra
% B-lactamase (D) Carboxypeptidase
B-emréLGoeh srruréed QuiigGLav

(E) Answer not known
alenL Qzflwalerena

20. Which of the following pairs is correctly matched?
Gemeupd @evenrgafled eraneu Filwimg QUTBHSSLILIL Ig(HSS D) ?

(1) Lithium citrate — antidepressant
dlgHwid HCrl — weare(Pss TSl WwmHbS
(1) Aspirin — Anaesthetic
<eviiiler — w&Es wHHS
(1i1) LSD — Antibiotic
LSD — adlir 2191

(iv) Phenobarbitone — Insomnia
CarrurTAGLTer — grésLdlemeano

@) @), (1) & (D) & ) & @)
(C) (i), (ili) & (iv) D) (iii) & (iv)

(E) Answer not known
e Gz flueleorens

Chemistry | 12



21.

22.

23.

The radioactive isotope is used in the detection of blood clot is
QrEsd 2 dns®OE ST Hl vweruhigsliubb sdiluss gCsrGLmL
(G LD.

(4) Mg ¢ Nax

(C) Ca40 (D) CIs7

(E) Answer not known
eflenL QgMweldane

If a radioactive nuclei emits one o and two B-particles successively, name
the resulting nuclei.

em sgflussssaiion  Qstiibs @@ o oo @rarh  P-gisersamar
CeuafleliHdlmg) eremmmed 2 (HAUMEGLD 2 L H(hHeUmang|

(A) Isobar of the parent nuclei (B) Isotone of the parent nuclei

sml saflwsdler smGsrumt STl saiwsdler CarGLmer
M Isotope of the parent nuclei (D) Isomer of the parent nuclei
sTl saflwsdler GGy sl gaflwsdler Camiom

(E) Answer not known
eflen QgMweleraney

The non fissionable 232Th is converted into fissionable 235U by
Qerayprg 232Th, Gereymw 235U o5 Qsmens Csram() LIHOLILGE DS

M Fast neutrons (B) Slow neutrons
Geusiomes Byl yrer Qogleurer Byl Frer
(C) «a-particle (D) B-particle
Ol-8I&ET B-giser

(E) Answer not known
eflen QgMweldeane

13 Chemistry
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24. Choose the correct answer.
Cobalt 60 (Co%9) is used in X-rays therapy, because it emits B and vy rays,
it finds application in diagnosis of
sflurer udlene Gzre] GFLwIa|D.
Gemuré. 60 (Cob) esevCy HAsamsiedr LweaTLRSSLIUGSHDG. gQarafld
@a B wpmd ¥ sfismer 2 10pdng, Cogid @g Gereumn Coreapw semHw

LwerLh& g
(A) Anemia ﬂ( Cancer
@55 Carens Caemair
(C) Hypertension (D) Fatty Liver
2 W @55 (PSS QampLiy 6T

(E) Answer not known
ellenL Qzflwalwene

25. An electron emitted from the nucleus of a radioactive element is called

e siNwuss salwsdear o smallalmhg @@ ereslgrar 2 WWLUGSDs. @

SNGE
(A) Positron (B) Antiproton
LT Lymeot <}, 6tig.L| GrrmLl_L_meor
(C) o-particle M B-particle
Ol-g|&ET B-giser

(E) Answer not known
adlen Ggflwelerena

Chemistry 14



26.

27.

28.

Which one of the following lanthanide element is radioactive?
Spssam. ensgman() salorsaid g sSMussSFamenou|mL g ?

A) S @ P..
(C) Tw (D) P,

() Answer not known
eflen QgMweldena

The phenomena of emission of energy and radiation by celestial bodies.
eflamgpias GummLsarmed o 8lpb HDO WHmID &fieSss Blapay

(A) Fragmentation of nucleus (B) Nuclear explosion
2 L g(meler gL mge o L& GleulgLiLy

(C) Nuclear chain reaction ﬂ?f Formation of bigger nucleus
o & grdledl cllener Quiflu 2 & 2 (maurge

(E) Answer not known
eflenL QgMwelerane

Radiation used in MRI scan.
MRI evGaefler LweTL@id sdiraer

A) UV (B) IR
Uv IR

% Radio wave (D) Microwave
CrigCur eme | GBOT 60T 61 60

(E) Answer not known
ellen QgMweldene

15 Chemistry
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29. The nucleus of an atom of radioactive I-131 used in thyroid imaging
contains
agrmi® sar®iiyu9heE vweau@n sdfluss 1-131 sers
Ol metTlg (H&@LD.

(A) 53 protons and 75 neutrons

53 yGrmLmenaser wHmd 75 Bluyl grerser

}B’f 53 protons and 78 neutrons

53 yCrmiLmenser whHmid 78 Byl yrenser
(C) 538 electrons and 78 neutrons

53 eTasLmenser Hmd 78 Bl yreser
(D) 53 neutrons and 78 protons

53 Bl yrengar wHmbd 78 LG L TerseT

(E) Answer not known
alenL Qzflwelerena

30. Of the following process, which one does not change the atomic number
Yereupd QFwdseted) ami eraT MHMOD BLd@n ClFuwe

% Gamma emission (B) Alpha emission
ST 2 OpS6E <peour 2 0lpsed

(C) Positron emission (D) Beta emission
LSl gmenr 2 10psed SrLm 2 10pse

(E) Answer not known
elenL Gsfweildae

Chemistry 16



31. Choose the right answer for the following:
The half life period of thorium is 20 days. After how many days it
disintegrates to give 1/6 of its original amount?

SpésraueupOnE sfurar eflanL_eanw Caib05 [0 &s.
Camilwgdlar oiamy yuar sron 20 prisdr Eb. assman B sE5sE LGS
DGl FAG &L faTedled(HHG! /6 25 FengeuenLu|b ?

% 80 days (B) 2.5 days
80 prigar 2.5 B sdr

(C) 640 days (D) 160 days
640 B sar 160 pm_ser

(E) Answer not known
ellen_ GgMwelerene

17 Chemistry
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32. Match the following :
Spsar_cunan CUT(HEss

Types Examples
@) arib T(h&815&T_(HseT
(1) Isotopes (1) 148130; 15P31
GG : :
.. 35 37
(2) Isobars i) ,,C1”; .Cl
eoCamumr
(3) Isotones (i) 4, Br®; ,,Co®
e GarCGLmeyr
: 40 40
(4) Isomers iv) gAr™; K
eCamofr

Choose the correct answer :
sflwrer aflenL_evw CoiB0sHESSD. :
» @ 6 @
@4 @ © @) @)
B) Gv) @) @ @)
e 6 G
D) @) @ (@Gv) @)
(E) Answer not known
e Csflweldame

Chemistry 18



33.

34.

Among the following statement, which is wrong?
SDESERTcUDMIGT 6T8l SEUDTET Saphm) ?

(A) All actinides are radioactive
Slwersgl Ysumarhs@Epbd sflfluss Ly Qerear_amel

(B) Compounds of lanthanides are less basic than actinides
- Yohaar() sTliggib ompsamarh Caromsd Gmpbg ST Ly
O&mair_enew
% Binding energies of 5f orbitals are higher than 4f
4f g reows s ggib 5f <yndLreler Geaiy @ubnd oifswn

(D) Lanthanides do not form oxo-cations
orbs@er(hser &Car-Crimbler wealsmen 2 (HeaurssTs)

(E) Answer not known
eflenL QgMweldeme

Which of the following is the chronological order of arrangement of
Lanthanides according to atomic number?

1. Lanthanum

2. Neodymium

3. Praseodymium

4. Cerium

ereumeuareupiler iami eramaniianLily. hsear B saar QR(PEIGLLILY 6T
sreaflens erg) ?

1. eombsarbd

2. PACumgBwib

3. WreCGurevLOwibd

4. EAwb
&) 4,1,2,3 #1432
©C) 1,38,2,4 D) 2,1, 3,4

(E) Answer not known
eflen QgMweldene
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35.  Which of the following lanthanide ions are diamagnetic?
EPE@TL ThIMar( UeNEEHer e LUTsThss sarenn CLhmeae ?

G La*
(i) Nd**
(iii) Tb**
(iv) Lu®
6 () and (iv) only B) (ii) and (iii) only
(1) woHmb (V) LI EHb (i) womib (1il) LI Eb
(C) (1) and (iv) only (D) (1) and (ii1) only
(i1) wpmib (Iv) L EW (1) whHmid (1ii) v Hb

(E) Answer not known
ellenL Qzflwalerena

36. Segregate the ions associated with diamagnetic behaviour
LW sThgserand Carar. <waflsamer W50z H s W

Ce®™ Pr* Nd&* Lu* Np** Ac*
Ce* Pr** Th* Pa* U* Am*
Y0 Lu® A Ce* and Th*
Lu**  Ac* Ce* wpgw Th*
B) Ce** Np** Pr** and U*
C eS+ Np 3+ PI‘4+ oHOILD U4+
(C) Ce** Pr¥* Pa** and Am*
' Ce* Pr¥* Pa* OHMILD Am*
M) Nd** Np** Pr** and Am?*
Nd** Np** Pr* womw Am*

(E) Answer not known
alenL Gsflwaelerana

Chemistry 20



37. Lanthanide elements are separated by method.
populiled ambsman() saflbhise UMsCsHssLILOSDS.
(A) Mond’s process
rewr(h (Lpenm

M Ion exchange chromatography method.
Sweafl ublwrdy &Crror CLrdgma

(C) Van Arkel’s process

QUITET <Y, T&&ED (LPenm

(D) Crystallisation method

LIl SLOTESET (Lpenm

(E) Answer not known
e GsNwelerana

38. Among the following, which is a stable nuclei?
Spsear_aipile ergl Blaaliyssamamn Wés o 1 am?

(A) Cu® (B) Fe®’
M PH208 (D) A%

(E) Answer not known
eflen_ QgMwelerena

39. The steady decrease in atomic radius is
2Nl Yrddler Hlavowrear Gmme, ererLg)

% Lanthanide contraction (B) Reduction state
MThsmar(h &m0 &sLb <Y &ellner @H&EsLD

(C) Oxidation state - (D) Magnetic properties
< GedlgCarhm erer STHSL LIGRTL|SET

(E) Answer not known
eflen_ QgMweldane

21 Chemistry
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40. Lanthanides with atomic number 57 — 62 are also called as
Siaml eTeir 57 — 62 cuany 2 drar wrHs@ET(HSEET @)L H@LP&ELILIHE eTmer?

M Cerium earth elements (B) Yttrium earth elements
FAwd wer seafllwrser @ flwibd wewr gaflwriser
(C) Thorium earth elements (D) Uranium earth elements
© Camilub weir saflwriger : WGreflwibd e seflkiser
(E) Answer not known

adlenL Qzflweldeane

41. The number of grams of an analyse in one gram of a precipitate, weight

of analyse in gram is

@@ dymb efpuyeiaiarer L@liuTie) Qummeaier dymbsaier cramanlsmas eremug

(A)

©)

(E)

Chemistry

Volumetric factor M Gravimetric factor

Lmerdl U@GLUmile] smyeswt repL_ Wil U@GLILMile] Smyewtl
Titometric factor (D) Iodometric factor

STLUTTESH LiGLUT6| STyesmt <Cuimger ghob LGUUTle smyenf

Answer not known
alenL Csflwelerena
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42.

43.

3 ?

—=— 18 a specific indicator in oxidation - reduction titration involving

_ Y as the reactant. X, Y are respectively,

¢ )

—— @arug deauEurmarTs @@seh Curg, salnCadn - RS

sybUTTEsdld —=— aaug @ GHILAOTL Bpmstiy oen. X, Y aewug)
pernCw

@)
©)
D)

(E)

methyl orange, oxidic acid
Cgdler <prErs, <psevTadlls @jbleid

starch, iodine
evLmir&, egGuimig eir

Alizarin yellow, ferrous sulphate
SfedlFilar wEpedr, Quiyen FeoGuL
Fluorescein, silver nitrate
Litemr&err, Seveur enpl G

Answer not known
dlenL Qg flwelerena

Gravimetric estimation of metals the colour of precipitate when Nickel
treated with dimethyl glyoxime results in
2 Garsmsailar eewfl u@luTiey @LGwdd damarCursedore e, Hl& e
alenarflyb Cumrg Hes@b afipugeler Hpw

(A)

©)

(E)

Blue (B) Yellow
BeoLd LD @H &I
Green p{ Red

LT Fleuliy

Answer not known
enL @giﬂmafﬂebmw
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44. Which of the following compounds are primary standards?
Spsa. CamomsEner (psoblane S QUmmL ST wWrenel ?

(1) NaOH
(1) H2SO4
(ii1) K2Cr207
~ (iv) As20Os _ _ _
(A) () and (i) only @ (i) and (iv) only
(1) woHmid (i1) wL @b (iii) whmb (V) WL
(C) (1) and (ii1) only (D) (i1) and (iv) only
(1) womib (1il) wi Hib (i1) whmib (1v) LI EID

(E) Answer not known
adlenL Cgflwalerena

45. units used for identification of components in paper
chromatography.
3@ srer GCrmol CLrdlymeGuiledr o erer GUmHLsamer el
vwerUHSsLUOE DG
(A) Partition coefficient (B) Adsorption coefficient
Gflens @enTasD LTSS (&eTaHID
Q@/ Rf value (D) Retention time
Rf wduy ThszCsremL Crrb

(E) Answer not known
e Ggflwelldeane
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46.

47.

Name the process in which the impurities are trapped by a rapid
growing crystals during the precipitation. ,
afpugeursseflar Qurpg wresseT Ugs Gl Qealude 1914 £51& s TeT(@RLD
Blapeih@r Quuwir

(A) Inclusion M Occlusion
&) 63 (@m &6 316 (@B F 6T

©) Surf’ace Adsorption | (D) Isémorphous replacement
HoUUriysé Seuf 2 (heu @55 LIS

(E) Answer not known
eden Ggfwaelerene

Mention the reason behind the tetrahedral complexes are generally does
not give geometrical isomers.

pranpdl  smenels  Ceiomsdr  QUIFTE  elgel  eF  LIHOLKS®ETS
Qarhrudleoae sryeamrid?
(A) Tetrahedral involves in sp3 hybridisation
Brenpdl Sp3-@arssoliLrarears)
(B) All the positions are trans to each other
T QL BSERHD RaTnECaTEn didmsuds Simbbss)

M All the positions are cis to each other

T Q)L BIGEHD RETNISCSTET 2i(HaTamwuld S@Hss
(D) Tetrahedral is a non-planar structure

BI&T(pd 6 FOSETOHD SenoLIL]

(E) Answer not known
edlenL QgNweldeame

25 Chemistry
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48. Among the following elements, which is used in column chromatography
has the highest eluting power?

LigS

aamariugell Uflasudle Lwau@SsLILEL SpssaTL 2 (helersdsad

g6 2 (halleTdssl L Sl ?

(A)
©)
(E)

C:H;OC:H; (B) CCL
CeHs. . @7 C:H,0H

Answer not known
ellenL Qgfwelldene

49. The equivalent weight of the substance which involve in redox titrations
can be calculated by
sallnCarhn @Oss srbumissasaid Lweaumn Qumml salar swrar e eamw
sesSl (heug)

(A)

B)

(©)

(E)

Chemistry

No. of hydrogen ions replaced during the titration
srburtssoseiay emanl remer <jweluler LNwrHDL LW arailsms

No. of ions replaced during the titration
srburissasafley uflbrhpwenL b wealseailer erameamisams

No. of ion precipitate during the titration
STUTTES6le aIpLiLigeur@h Swalseaier eramenilsms

No. of electrons transferred during the titration
STDUMTSS0 &6 LflLMHDHEL WD 6TedL Tremgeear 6reameanseans

Answer not known
lenL Qsfweledena
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50. Which of the following is not a sublimate?

51.

SLDSE@TLcUDDIET 6Tg) LUSRISOTETS ClLmmeT?

(A) napthalene w{ benzoic acid
IBITL1 %60 6T Quengmuis =bleid
(C) camphor (D) 1odine
Gsburm (@LLd) . . 3 Guimg 6ot

(E) Answer not known
eflenL GzfNweldena

The number of unpaired electrons present in [Cu(CN) 4]3" is

[Cu(CN)4]3_ -& @Qavantli9n @ Qedans erasl rearsaier eramailsms

g7 o B) 1

© 2 D) 3

(E) Answer not known
edlen QgMwelerene
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52. Choose the right answer from the following statements that are true
about, [MnCl,]%~

(1) it 1is tetrahedral structure

(1) dsp? hybridisation

(ii1) it is diamagnetic

[MnCl4']2_ updl Gereupid sapmssaier @whg sflwurar udae CaiboshHEsab -
1) Qs prenepdl augeuid

(i) dsp? Qemsseriy

(1) @& Lwr srpsssaTamL QsTaTL g

(1) only (B) (1) and (i1) only

(1) wrEb (1) wHmid (i) b Eb
(C) (1) and (iii) only (D) (i1) and (iii) only

(1) womib (1il) wI_ : (11) womib (iil) wi b

(E) Answer not known
elenL Qzflwelerena

53. According to Werner’s theory which one of the following is not associated

to secondary velency?
Ceufrariler sapmiLg Epssam_epbdld g @rammbd How Qaarsdnalns

FLOBSLOIEm ?

(A) Hybridised (B) Geometry
@ arssLIL GUIgGULD

@ Ionisable (D) Non-ionisable
SlweiwmgLbd SUal &1

(E) Answer not known
edenL Csfweldame
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54. Assertion [A] : [CoF6]3 ~ 1s called outer orbital octa hedral complex.

gamm [A] : [COF6]3— @ Qeuafl M9 L e eramupd sianantays Ceirioib.
Reason [R]: It involves d2sp3 hybridisation
smyewrd [R] : @ée d2spd @arssaLiL o drerg).

QO [Alis true but [R] is false
[A] eréiruigy &), [R] ererug) seum

(B) [A]is false but [R] is true
[A] erarug) sougy, [R] ereuigy &

(C) Both [A] and [R] are true and [R] is the correct explanation of [A]
[A] wpgid [R] &, [A] -6 eflwrar edarssin [R]

(D) Both [A] and [R] are true but [R] is not the correct explanation
of [A]
[A] wpmid [R] &f. spemmed [A] -er eflwurer efargsn [R] HenLwirg).

(E) Answer not known
adlenL QgMweledena
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55. Assertion [A] : dx®—y? orbitals goes to highest energy level in square

planar complexes.

sgapm [A] : FLITSSET S| 6DET6&er ) dx? — y2 < MAC L) Sifs < hmade
I DG|.

Reason [R]: Coordination number in square planar complex is four

sryanrd [R] : FSITSSET MM SH6Te) SEHERTE GTeHT : BHT6H(E.

(A) [A]is wrong, but [R] is correct

ol

©)

D)

(E)

Chemistry

[A] seumi, <pammed [R] &

Both [A] and [R] are correct but [R] is not the correct explanation
for [A]

[A] womb [R] @rem@w &, eame [R] eremug [A]-&@ sflwrer efarssin
@eane.

Both [A] and [R] are correct, but [R] is correct explanation for [A]
[A] wpmid [R] @rarpin sf, <yeme [R] ererug [A]-6@ sflwurer elerdain.

[A] is correct but [R] is wrong
[A] &M <yammed [R] seum,

Answer not known
alenL Gzflweleena
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56.

57.

Assertion [A] : [Co (en),cl,]" complex exist in cis and trans forms.

gapm [A] : [Co (en),cl,|* eramp Gsfrow cis whmid trans augale
2 (HeUmSmg.

Reason [R]: Only cis form is optically active.

smyenrd [R] : ClS i@l WL O eefl sRHHIb S Qsrarg.

A) [A]is correét but [R] is wrong.
[A] &, syammed [R] seum

M Both [A] and [R] are correct.
[A] vpmis [R] @rer@n &

(C) Both [A] and [R] are wrong.
[A] wpmo [R] @ram@io geum

(D) [A]is wrong, but [R] is correct.
[A] seum, <yarmed [R] &

(E) Answer not known
edlen_ Qs flwelerene

Name the [Pt(NH;),Cl,] complex according to the IUPAC system of
nomenclature.
[Pt(NH;),Cl, ] Gsinsfer IUPAC Quuwit Caib@s@.
(A) diammine tetrachloroplatinum (IV)
Lwibler QL gm@gGermCrmlarmi_igern (IV)
(B) platinum (IV) tetrachlorodiammine
lﬁlmm'_Lq_@TLb IV) QuigrgGearnGrm_wier
V tetrachlorodiammine platinum (IV)
Gl gm@GermCrren_wibifler Qarm_qerd (IV)
(D) tetrachlorodiammine platinum (I)

G gm@GermCrranwibbler Germ g erd (IT)

(E) Answer not known
eflen QsMweldene
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58. The correct statement regarding the strong field ligands is
auellewss rafl eimeame)s Carpmgmarn updu sflwrear snbm)

(A) It gives only an outer orbital complexes
Simelser Ceaflgan®h il Lmd Carvhsmes Qasrhsdns

% It gives only an inner orbital complexes

SDMeUEET 2 L g () M9 Lme Carbhsmars Csrh&sng

(C) It is spin free complex
SmyTer HIPH& ClETeLg)

(D) High magnetic moment
285 sMHsS sarend Camemg)

(E) Answer not known
ellenL Qzflwaleene

59. Which of the following is/are bidendate ligand?
(1) Oxalate anion
(1) Ethylene diamine
(i11)) Ethylene diamine tetra acetate anion
(iv) Pyridine
EelelaTelpmIaT ergl/eTeneu @\ renfl/ @) rrenllsEhé@ 2 SmremTib ?
(1) sl adi jwef
(1) ersdeder enL =ybler
(111) ergdlefen e e QLigm <Gl erdlit jwarf

(iv) 9figebr

(A) (i) and (iii) P () and (ii)
(i) wppib (i) (i) wppud (i)

(C) (ii) only (D) (ii) and (iv)
(i1) wr @b (i) womib (1v)

(E) Answer not known
enL Qsflweldane
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60.

61.

Select the coordination compound that exhibits linkage isomerism
Qevanrii wrHHwLd b tavanrey CarowLD

(A) [Co Br (NH,), ] So, (B) [Cr(H,0),]Cl,
(©) [Co(NH,),] [CrCly] ga( [Co(NO,) (NH,);] CL,

(E) Answer not known
e GzsNweldene

Which substituent has the highest (R-S) priority?
Spaumd deredsaie ag odsur L R-S sraflasmuw Q& mesm (HeTerg ?

(A) — CH:- NH, # —CH.-F
(C) — CH,-OH (D) - €F CEL;

(E) Answer not known
efen Gsflwelerene

62. How many chiral centres are contained in 3-methyl hexane?

3-Gwgdle ansCraller ergsmar @msrd @bWkEH 2 6rarg 2

Y One B) Two

@eTI Qb0
(C) Three (D) Four
(Leful BT

(E) Answer not known
eflenL QzMweledrene
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63. Which pair of compounds having stereoisomers?
Gerau(mid Ceomyg. epesanmsailes erg eveMGuim syGeamwor?

(A) 1-pentene and trans 2-pentene
1-Quetiesr HMID 1g7TeTan 2-0LI6Te 6T
(B) Cis-2 pentene and cyclopentane
Hlev-2-Guieedr wHmibd @assGerm@ TG ar
% Cis-2 pentene and trans 2-pentene
Heiv-2-CLieiear HMID g FTemen 2-6LeTe 6T
(D) Trans-2 pentene and 2 pentene
lq.pmeireny 2-Guebmeesr WHmID 2-6Lebie 6T

(E) Answer not known
ellenL Qzflwalerene

64. The melting point of the Racemic mixture of Lactic acid is
&SP Samel 2 6TeT rdlqd dlwsHer o @bl wirg ?

Y1 18°C B) 26°C
(C) 97°C (D) 20°C

(E) Answer not known
e Czflwellerena

65. How many asymmetric carbon atom present in tartaric acid?
LrlLrfls oflesdld asseman swsyHn smiLeT 2 drerg ?

@ 1 B) 3

g o - D) 4

(E) Answer not known
elenL Gsflweildame
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66. Which of the following compounds have optically active property?
Sereu(bLd ppessnbled ardler afludwd wrHwibd o drerg) ?

(I)H
CH, — CH— COOH (B) CHCI,
(C) CH,CH,COOH . (D) CH,CH,OH

(E) Answer not known
edlen GzNweldena

67. Which compound is not an isomer of the other three?
eTbg Carobd wHm eperder spGeminr e ?

(A) n-pentane (B) 2-2—-dimethyl propane
n-QuerGLer 2-2—eLQusgdeé LrGuer

(C) 2—methyl butane M 2,3—dimethyl butane
2—Qwsder G G eir 2,3—aL_Qwsde Gy G

(E) Answer not known
den Gz flwelerene
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68. Which of the following statements are true about maleic and fumaric
acids?
(i) Both have same molecular weight
(i) The melting point of fumaric acid is higher than that of maleic acid
(ii1) Fumaric acid has higher solubility in water than maleic acid
(iv) Fumaric acid is oxidized by alkaline permanganate to form meso-
tartaric acid ‘
wafudls  woHmid  SGwyorils  Slensds upPlu  ShsaTL  sapmssale  a@eu
gflumerenal ?
1) Qe Qrarhib @Cr epe&smn L mw QupmeTarer
(1) S Qworfls sflesdear o mEHoe wasuWs Sasmsel @iflsb
(1i1) S Qworils sifasder smrdper Flod, wWs <Blosms AL idsibd

(iv) sy QuinnriisGer iy ame <us8nCanb QsuybGurg &H@uwris il
BCam-Lmirmis Sblosns mSDng

(A) (1) and (iii) only (B) (i1), (i11) and (iv) only

(1) whmib (1il) wI_Eb (i1), (1ii) wHmb (IV) LI b
@ () and (i) only (D) (iii) and (iv) only

(1) womib (i1) wL_Eb (iii) whpmd (V) WL Eb

(E) Answer not known
e Ggflwelldeame
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69.

To exhibit stereoisomerism the molecular conditions are
(i) The molecule is made up of atleast three different atoms of elements
(i) The molecule should rotate plane polarized light
(i11) The molecule should not have plane of symmetry
(iv) The molecule should have non-superimposable mirror images
puuforar wrHflukismers STaTIEs ApedssnniésTer 1Bl 60 GoTas 6T
(1)  ep@smy GODBES ApeT CleueuGeun gaflbhisaier <ianissEHLeT @@DwL
Qupd(mEs Ceuam(HlLb.
(i) wosmp s weae, OQsmarl @afleows spOHMID st CUHDHES
- Geuar(p)bd
(i1) epevsemy seré S CsTETY (5656 onl_T8)
(1v) epessmm CuHQUTBHESTS <l NbLIkIG®ETL Qubdlp&s Ceuer(Hb
(A) (@) and (i) are correct
1) womib (ii) sRwrerg
(B) (i), (i1) and (iii) are correct
@), (ii) wpmb (iil) sfwreang
M (1), (i1), (ii1) and (iv) are not correct
(@), @), () whmb (v) sauprars)
(D) (iii) and (iv) are correct
(iii) wpmibd (1v) sfwrars

(E) Answer not known
elenL GQgMwelerena
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70. Which method is used to distinguish between optical isomers?
aflulwe wrhplukisamer GounLBSgeusHsTs LWELHSSLILHD WPan Wirg ?

(A) IR spectroscopy (B) Mass spectroscopy
Si&FSleulIL Blpwmeae @uid Hlenm Blporeney @)wied

@( Polarimetry (D) Chemical Tests
CumemflGwL M : Caudlllwe <yieysar

(E) Answer not known
cllenL Qgfweldeame

71. Choose the right answer from the following statements are true about
meso-tartaric acid

(1) It has a plane of symmetry

(i) It is inactive

(111) It has one asymmetric carbon atom |

BGer-LrrLmflés blosmsts updl Gereumb ursdunseie gl sflwuma LS
erany Gsitey Q&ulwed ?

(1) é&rewws semb QUHD HESLD

(i) @z Gruwpps)

(i) @& @@ FwEETHY STTLET Aa@Dials QSTaTiy W@

& Aelonly & G) and (i) only

(1) v Eb (1) wHmib (11) wL b
(C) () and (ii1) only (D) (11) and (i11) only

(1) womib (1il) W b (i) whHmib (iii) wi EHb

(E) Answer not known
enL Csfweildeane
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72.

73.

The concept of stereochemistry is based on

wuuflorer Caugdlulilweler Gararens Qe i liLiaLuld 2 eTerg

(A) VSEPR theory
VSEPR Qsrérens

(B) Molecular orbital theory
. pssmn Y MALL D Csmeareans
(C) Valence bond theory
GQaveardper Geveanriiy QsmeaTans
@7 Van't Hoff and Label’s theory
eumer anmiev wHmib Coldde Qsmeareans

(E) Answer not known
eflen QzfNweldena

Among the following, which is the strongest acid?
ereumeuareupiled erg euellanio LOGHS Diblevid ?

(A) Butanoic acid
1wl L armudlds ojdleoid

M 2-chlorobutanoic acid
2-@CerCrr 9w L armuis oyfleid

(C) 3-chlorobutanoic acid
3-@CernCrm 9w L armuis @jflebd

(D) 4-chlorobutanoic acid
4-&CerrCrm 9w L armuils oyfatd

(E) Answer not known
eflen QsMwelerena
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74. Delocalisation of w electrons causes

T Te&L_JTeT @)L LOmHmID eTerLig)

M Resonance effect (B) Electrometric effect
2 L aflengey ellenaray s Crrol Mé eleneray
(C) Inductive effect (D) Hyper conjugation
T gIaT(hse elleneray : GanpLienenrLiL

(E) Answer not known
ellen Ggflweldeame

75. Arrange the following in order of increasing stability and explain the
order on the basis of hyper conjucation. :
Epsar_eupmier Hlevelriys serenwuler Sgliumiule aufamsliupsgs. Guaib
eanuT @eariider <jglitienLulled cllemd@s.

+
(D cH, —CH,

+
- CH, — (|3 — CH,
CH,
(I11) 5H3

+
V) cH, —CH— CH,

O dn dn av)
T T T
(i5 T (R el R
i e R
0 e S|

(E) Answer not known
eflenL Csfweldame
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76. The non reactivity of chlorine atom in CH, = CH—Cl is due to
CH, =CH-Cl-& @Garmfler oigniefar elearnflung seawssrar smar

(A) Inductive effect Resonance stabilization
gramhsd alleverey 2 | aflenge BleneliLs Seanio
(C) Electromeric effect (D) Dipole moment
aes Crrlofls deverey G muenar SHmiydner

(E) Answer not known
adlen Gz flweldema
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77. Assertion [A] : As compared to Ammonia methyl amine is less basic
and for aniline, diphenylamine is more basic.

gapm [A] : <ibCuraflurejLer  @uAELCUTE  Bwmsed ler  E@ODHS
smssarenn  Carar@ererg. CgLD@ILD oLSmared e
Salelamareil &TySseaTann Sl sib.

Reason [R] : . Methyl amine is more basic because of +1I effect but
aniline is less basic and diphenyl amine is a still
weaker base due to — I effect.

aryenrd [R] : +1  eleerelame Beaged oSer  oHe  sTrSSETELD

Oeremperarg. <earmd — I odearelame <afldar GopHs
EMESTaLWTSEa|b L imare lar  @araytd  aiflwibd

GMODBHS SMILOTS 2 CTenG).
(A) [A]is true but [R] is false
[A] ereruigy sflwrang), <parmed [R] eremug) seum)
(B) Both [A] and [R] are true and [R] is the correct explanation of [A]
[A] wppw [R] @rar@on sflurarg. Cuain [R] eearug [A] Wer sflwrer
eT&SLD.
@7 [A] is false but [R] is true
[A] seuprang [R] ererug sflwumans
(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]
[A] wopb [R] @rem@wn sflwrars. <yeme [R] erarug [A] Wer sfwmen
ATEHLD DGV

(E) Answer not known
adenL CsMwelidene
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78. Among the following groups, which is not having the property of positive
mesomeric (+ M) effect?
5Cps sruuLpeter Osrgdsaled ag Cproep WBCsmGwAs elameray (+ M)
CsmarTL_gl e ?
(A) OCH; ﬁ{ CN
(C) NH: - : (D) OH:

(E) Answer not known
edlen GzfMweldena
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79. Assertion [A] :

sgapm [A] :

Reason [R] :

sryenrd [R] :

Relative basicity of the following carbonion is —
CHs — CHz > CH2=CH > CH=CH

sp® sp? sp
OUBSILL L &TSSemend CsmarT U6 erélif 2w eflger
G etreu(mLomm):
CHs—CHz > CH:=CH > CH=CH -

sp? sp? sp

The electron density on ‘s’ orbital is more than on
p-orbital, as % s character increases from left to right,
basicity increases from Right to left.

P-TilLmegamer ol S-MALTOSEHEE TS FTer
SiLfey <iflsb, glaeaid @QLO®bg b Qedamsuie % s
@b Fsfsdpg,  wueb@bs 0 QL Csdesuded
sMrSSeneno SlsMsSng.

(A) [A]is true but [R] is false
[A] ererug) sflwrarg), <armme [R] erarug seuprars

(B) Both [A] and [R] are true and [R] is the correct explanation of [A]
[A] wpmd [R] @ran@n sfwrarg. Guoain [R] earug [A] elpE sfumar

OT&SLD.

M [A] is false, [R] is true
[A] seupreng [R] eremug sflwrang

(D) Both [A] and [R] are true but [R] is not the correct explanation

of [A]

[A] wpmibd [R] @rer®ind sfwrarg. Guain [A] elpeE [R] sflwrer elerdsid

S ELG.

(E) Answer not known
adlenL GgMlwelldama
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80.

81.

Identify from the following the group that causes +M effect:
Yesreumeuareupmier +M ellenereney FHUBSIID AsTGemu L wrard SraneLb:

@ =0 (B) CN

Cl (D) NOg
& A

(E) Answer not known
eflen QgMweldana

Which of the following sets of conditions makes a process spontaneous at

all temperatures?
ereupeuareupmiar erbs Gyl Plupseanurears  Simarss Geutiufleneasefgiib
geraflFamawunar QewdpamnsE eullel@d@L ?

(A) AH=0: AS>0 (B) AH=0 : AS<0
@ AH>0 : AS>0 D) AH<0 : AS<0

(E) Answer not known
eflenL. QgMwelerana

45 Chemistry
[Turn over



82. Which of the following statements are correct?
e peuareupmier sflwner Qsm_eny Csib0sH&s:

(1)

(i1)

(iii)

A process is said to be isothermal if the temperature of the system is
not constant during each step of the process.

@ Csweapapulier ewblurearg < rbu Hloouldmbg @mnd Hlaanses
wropweLub Gurg gt Geuliublere MHOLD é{ml_j_rggj ClamraGL

@ riug Qeutiuflene wrpr CQFwe wen. -

A process is said to be adiabatic if no heat enters or leaves the
system during any step of the process.

em Cewogpapuier Curg el LOHDID GEasEd QLG eaeeis
Qeuin  uflbmhpepd  Hlesprd@muder oFQswuowean GCeuliub  wIPTE
QEwepenm eram euaFmSSLILIHS DS

A process is said to be isobaric if the pressure of the system remains

constant during each step of the process.

@m Geudapepuier yembrurarg <rbu Hloould@is @nd Bowss
orppoeL b  Curg oFeT WSSD WLIHTLE®  LIOWTE  @mHsmed
FQFLDAPD (PSS LIPTE QFudupan eTar au@ruUnSsLILIHEDSg.

(iv) A process which does not take place infinitesimaly slowly is said to

be a reversible process.

@ Qewdpapulier emwlriurearg < rbublaoulambs @ndblamass whs

Bleneuldleb penL_Gumaeleraned erafled =g LSeralenar <y @Lb.

(A) (1) and (ii1) only (B) (i1) and (iv) only

(1) womb (1i1) wI b (11) wHmb (IV) LI EW
¥ (ii) and (iii) only D) () and (iv) only

(11) woHmib (111) L b (1) womb (V) L Hib
(E) Answer not known

Chemistry

clenL Csfweildeane
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83.

84.

85.

A reaction has AH < 0 and AS < 0. At what temperature does the
forward reaction proceed?

@@ oflwear AH < 0 wppd AS < 0 eafld, warGamsdu ofear THS
Ceuiublanauded aparGarmiid 2

(A) At high temperature M At low temperature
- 2wipg Ceuliublenauded . G@peurer Q@Duy_ﬂ@n@uﬂ]ﬁ)
(C) At normal temperature (D) At very high temperature
grgmyen Geuliublenaude 108 2 withg Qeuriulaeaude

(E) Answer not known
ellen_ QgMwedana

The Gibbs—Helmoltz equation is
gliev-Qend G av snearum() GTGHTLIG

IAG IAG
AG = AH + [ 92G B) AG = AH + p[22G
&) " (avjp ®) " (ava
o IAG
AG = AH +T[ 924 AG = AH + T[ 9AG
© i (aT)v MG & (aT]p

(E) Answer not known
eflen QgMwaelerena

“The total heat change in a chemical reaction is the same whether it
takes place in one step or in several steps”. This statement is called
‘e Cadelmanar Hlay Qautiu wrhpworearg NG @k Uil Blaphsreb
ADF Ueougsaild BlsDEsTRID LIDTESTE @)MHEEn” Qb5 Fabm
TATDE@PESLILIHE DS

(A) Le-Chatelier principle M Hess’s Law
S-&m g e S&gIeuLD Gseven el

(C) Joule — Thompson effect (D) Gibbs Law
g9-gmibger alleneray gl eild)

(E) Answer not known
eflenL QgMwelerena
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86. Which one of the following has the highest entropy of formation?
Epssameupmier o7y Flaul g 2 peum@d erar Crmlew Qupdlmédearng) 2

% butanol (B) water
L Larmed SaTERtT

(C) hydrogen (D) ethanol
- 6D L_ITE0 GbT . . GTSSETTE)

(E) Answer not known
ailenL AgMwelcrena

87. 100 J of work is done by a system and in the process the system releases
23 J of heat. Calculate the internal energy change of the system.

@m Aooider  Caume Hapeiear wdoy 100 J LOHOID e
QewdwapuiaGurg 23 J Qatiugms CealGEDg. S@wliear <5 < Hmedld
gHu@WD IHNEMSE Senss(Hs.

—123J B) —100J
(C) 234d (D) — 97

(E) Answer not known
elenL Qzflweldena

88. Those processes in which no heat can flow into or out of the system are

called as
@@ lemanier Qewdapampuler Curg, SemwiGp@er Geuliub 2 6tGer curTLOEID
Sevag CealCu Cadeamoaib @ @mrug) eTam SMP&SSLILIHE DG
W Adiabatic processes (B) Isobaric processes

wrpr Geutiu QEwepanser (WSS LIDNE CFEWO P DSET
(C) Isothermal processes (D) Cyclic processes

Qeuliublened LIDTE CFLIDLPEDEET sHm&F CFwedpanmeer

(E) Answer not known
adlen Gz flweleorena
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89.

90.

Entropy is a measure of of the molecules of the system.
aar Grmd  ererug @@ el eLP Q0 &8 M) S 6ifl 6o <jaredl (heug
D (GHLD.

(A)

©

(E)

Concentration (B) Velocity
QHelener SansGougs s e
Zig-zag motion : M Randomness
RPEISHD @QUISSLD RDEISDHD SHETEnLOE W

Answer not known
eden Gsflweldeame

For a spontaneous chemical process the free energy change is
2@ saralsmsurar Ceaugluiwd Qeudwpmpuidd sy @nnald ghL@b LOMHOHLD

CTGUTLIG SSLD.

A)
#
(©)

D)

(E)

positive

Grrenpnwirers

negative

eT8lTenmWwiTerg)

Zero

e

depends on endothermic or exothermic reaction

Qe GlsTeT <@g Qeuliub 2 10p amaremwut QuINSSs)

Answer not known
enL Qg flwaelerene
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91. When water is cooled to ice, its entropy
ey ualss iqwns Gallielssiu@n Curg siger erar Crmiwrears

(A) increases ﬂ( decreases
I EAEL A ES GEJuEES

(C) remains the same (D) becomes zero
wrHoLilerene - . LpsbsdlwienL Slmg|

(E) Answer not known
ellen Gzflweldeme

92. Which of the following relations is true for an ideal gas?
@ Spps eumyeiln@ Wereu(heuaTeudmIeT 6Thg QBTLL| o e bW Tears) ?

Yo~ Cp>Cv B) Cv > Cp
(C) Cp=Cy (D) Cp=Cv=0

(E) Answer not known
adlenL Gz flweloena
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93. Which of the following statements is/are true about amorphous solids?
(i) They possess long range order.
(i) They are isotropic.
(iii) They do not have sharp melting point.
SDEETERTUGTUHNIET 6rg)/eTaneu Uigsalgeinpn SLuCummearsamer updlw Fflwrer
FaDMTEGLD ? : :
1)  Soeuser EaTLssSnE GumsTar Siambliau QU BHESLD.
(1) SimeusdT Smarss damsselaid @i LT samar Q& TainTiq (58 ELD.
(ill) simeuser geedwomer 2 HGHmamu Qsmariy hEsTs.

(A) (11) only (B) (1) and (ii) only

(i) wi @ (1) whHmb (i) wr @i
(©) (i) and (iii) only @ (i) and (iii) only

(1) womid (i) wr @b (i1) whHmbd (1ii) wi @b

(E) Answer not known
eflen QgMweldana

94. The relation between faces, edges and interfacial angles in a crystal may

be given by
f = faces
e = edges

¢ = interfacial angles
Ugstisaiied o ater (pshiser, aflafibysdr wpmibd wslimLs Cameaniis @né@E,
Qe Cuwrear Qgm i <G L.

fZ@arBJ&dT

e = afleflibyser

¢ = sl s Csrarriser
Mf+c=e+2 B) frte=c+2
C) cte=f+2 (D) frcte =2

(E) Answer not known
eflen QgMweldena
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95. The radius<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>